Match the following dams with the states in which they are located

a. Mamaluk 1. Copper coin

b. Danga 2. Worshippng king

c. Jidal 3. Slave

d. Fipose 4. Silver coin
a b c d

(A) 4 2 1 3

(B) 3 4 1 2

(C) 2 4 3 1

(D) 3 2 1 4

Qurp s gis

a. LDTLOGYITE 1. Qb BrewuiLd

b. LmEsT 2. LDGITGITGN]  GUEIITHRI(S S 6D

c. &lmed 3. ©ugemip

d. euGumerd 4. Qeueitefl BrewruiLd
a b c d

(A) 4 2 1 3

(B) 3 4 1 2

(C) 2 4 3 1

(D) 3 2 1 4

Mohanjadaro is situated in which province?
(A) Punjab (B) Lahoor (C) Beshawar (D) Sind

OorasehesTCrr BaJD 61hS LOTSTEISSE)  EMLObSl6iTeTd)?
(A) L@ham (B) evmanit (C) Guagmeurr (D) g

Where did the British defeat Virapandya Kattabomman’s army?
(A) Kallarapatti (B) Singa Puneri (C) Madurai (D) Sri Rangam

o EdlCoowirser  elyuremnquw  sLLGumbwefller  ueLew  apg B SSled
Camhainssenit?
(A) ®aieniLiL iq (B) dlmissLi el (C) waiemy (D) wjgmisd

Petty Chieftains of Hilly region during the sangam age were called
(A) Mannar (B) Mamannar (C) Maharasan (D) Veliars

FEIG STSFleD Faev aTTHS BTHsmenr Y& Ceuls GoPle weaTEITE
Beaeury SIPSSLILIL L GTIT.
(A) wesreorit (B) wmipesreoit (C) wayraer (D) Geuaflir

Who was not the member of Ashtadiggasas?
(A) Dhurjathi (B) Sayana (C) Mallana (D) Panaji Surana

SjajL Flss@misailed Bedoors eHeur wimir?
(A) siTendl (B) gmwenr  (C) wosdevevsiesorm (D) uemgd @ymeum



6. Match the following

a. Delhi Salo 1. Balgangadhar Tilak
b. Do or Die 2. Dayananda Saraswathi
c. Back to Veda 3. Nethaji
d. Swaraj is my birth right 4. Gandhiji
a b c d
(A) 1 2 3 <
(B) 2 1 3 <
(@) 3 4 2 1
(D) 3 4 1 2
Qurp s gis
a. @Level #Geor I. UTSBIGTST Sl
b. Qeus Sevevg OFss g 2. SWTRIHS FTerdeus)
c. Coug sresdlie SlmbLmiser 3. Cpared)
d. swgrgrund eeg Ulmiyflenio 4. smpdld]
a b c d
(A) 1 2 3 2
(B) 2 1 3 4
(@) 3 4 2 1
(D) 3 4 1 2
7. What is the percentage composition of carbon in steel?
(A)0.15% - 1% (B) 0.25% -2% (C) 0.85% - 3% (D) 0.09%-9%
or.".dled STEMLILPRL STTLGTT FHIHLD 6oy eleilalere?
(A)0.15% - 1% (B) 0:25% -2% (C) 0.35% - 3% (D) 0.09%-9%
8. In which sector fishing and mining are comes under?
(A) Private sector (B) Primary sector
(C) Tertiary sector (D) Secondary sector

et Sigszed wpmid syrshEer abs sempulld S aumEng:?

(A) gailwimic gioop (B) paaiemiog giemp

(C) uenilzenr growm (D) @gewiLmid glewm
9. In which year was green revolution introduced?

(A) 1967 (B) 1977 (C) 1987 (D) 1957

IbG Yemiqged LG LIl Bl (pedolit®SSULL L g?

(A) 1967 (B) 1977 (C) 1987 (D) 1957
10. Which is not a cause for population explosion?

(A) High Birth rate (B) Social Customs

(C) High Death rate (D) Poverty

waser Ogrens OauqLiLEE g pdaswll sTraviose aaiLmss GOILILIHS
(A) @idls Upliy eigb (B) #eps LIp&ES 6updSHEIS6IT
(©) oifs Bpins ofisd (D) gpevo



11.

12.

13.

14.

15.

16.

17.

Who is the changing agent of the society?
(A) Farmer (B) Entrepreneur (C) Weaver (D) Actor

FUPSTW LOTHMLD STEHILD (LPSEUIT WITT?

(A) 2_peuir (B) QamflevpenenCournit  (C) Gpaeumenit (D)migasir
How many members are nominated by the President to
Rajyasabha?

(A) 14 (B) 12 (C) 11 (D) 10

agsamer 2 PLISlEITSmET GQUITE: SHME6UT LTBleBISMaMmeud@E BluidlssleammiT?
(A) 14 (B) 12 () 11 (D) 10

Who presided over the first session of the Constituent Assembly
held on 9tk December 1946?

(A) Dr. Rajendra Prasad (B) Dr. Sachchidanand Sinha

(C) Dr. B.R. Ambedkar (D) Pandit Jawaharlal Nehru

9, gFwbuT 1946-60 B Gupp Swdwed pliewmw Feuullar @S &L wmi
smavamoulled HLBSSHI?

(A) Lrseir @yrCxwpsly Ulyans (B) LrsLiT aFflgmhers Sleaianm
(C)msir Syt ondCussmir (D) uewnqrs sewamieored Cm(m

Who is called the First Citizen and Father of the City?
(A) Chief Minister (B) Commissioner (C) Mayor (D) Thasildar

wrprgr Aullar (pSed GHIGLEET WHMILD SHMS 6TAT MLPSHSLILIBLIGUT WTiT?
(A) wamevemwodFgt  (B) oy ememrui (C) Gwwir (D) eul Lm uiir

Gram Sabha generally convenes in a year
(A) 4 times (B) 1 time (C) 2 times (D) 3 times

gymoserLs GLUTgeuTs @m aBLSSIDG @D WD
(A) 4 pewmsair B) 1 gpeww (C) 2 gpewmae (D) 3 wpewmaaer

The first hydel Power Station in India was started on
(A) Sivasamudram (B) Mettur (C) Darjeeling (D) Bhakranangal

Sigwnailar apged Hmbler Bleneownd Bloeun’ . B b
(A) Aougpsdlyib (B) Guwr Bir (C) Lmiredledimi (D) usymprEIseD

The local storms in the Northwastern part of India during hot
weather season in called as

(A) LOO (B) Norwester

(C) Western Disturbance (D) Chinook

CarenL Lmeausdled BiFlwmailear eudlipsE LGIuiled aisd o ereniT Ljwed
(A) g (B) mrirGleuerdLir (C) Cupassdu Bmruwym (D) Aars



18.

19.

20.

21.

22.

Match the following

a. 1336 1. Origi of Bahmani Kingdom

b. 1347 2. Battle of Thalaikotta

c. 1565 3. Downfall of Vijayanagar

d. 1614 4. Origin of Vijayanagar
a b c d

(A) 4 1 2 3

(B) 2 3 1 4

(C) 3 1 4 2

(D) 1 3 2 <

Qurp s gis

a. 1336 1. umfefl’s Gugges Campmid

b. 1347 2. smevsCarieLs Gum

c. 1565 3. allgwpsg’ Cupre aipsdl

d. 1614 4. elmwpar’ Guyrs Csmmmid
a b c d

(A) 4 1 2 3

(B) 2 3 1 4

(C) 3 1 4 2

(D) 1 3 2 4

“Poibos” a form of salutation to the king was introduced by

(A) Iltumis (B) Balban (C) Nasiruddin (D) Bahram

Shah

“auCyred” e@IY FPLILIEBID, “SIFJ cUAMTEIGL LS cuamiss (papani”
SDpSLILBSSteuir?

(A) Bevgislag (B) uimedLies (C) B mSSa0n (D) urgibagr
Which city was newly constructed by Krishna Devarayar?

(A) Padmanabapuram (B) Thiruvananthapuram

(C) Nagalapuram (D) Villuppuram

“@uCured” ey  gapUUEL, “OFay  aemTEEGLD U cuewss
pempenus” S pasLILIBSSIweur?

(A) LigtopmLiLd (B) Slmpeuenpgd

(C) prasevmyyibd (D) aflapiyyid

The Dibang Wildlife Sanctuary (DWLS) is located in which state?
[A] Tripura [B]| Mizoram [C] Assam [D] Arunachal Pradesh

“Qumsl cuerallvBGEaT FFavTeWD” b MBSl 2 ererg?
(A) Siflygm (B) 1B@&myib (C) @avevmd (D) Sipamimigev LilyCsaid

Who has won the 2017 Serbian Presidential election?
[A] Vuk Jeremic [B] Saaa Jankovic

[C] Tomislav Nikolic [D] Aleksandar Vucic



23.

24.

25.

26.

27.

2017 - @uuwys gmoair Csisalled wrir Qeubpl Gumuyeirermir?
[A] 2.6 OgCymblé [B] 1 sgneniCamags
[C] Casmblevevmen BlCxsmedls [D] SiQevaamewiLit ey dls

Who will become the chairman of the newly constituted National
Board for Electric Mobility (NBEM)?
[A] Girish Shankar [B] Vikram Kirloskar

[C] Vinod Dasari [D] Pawan Goenka

yslwgns emwsastuL (National Board for Electric Mobility (NBEM))
sdlar semeveugras wirir CaibOsHSsLILL 2 6temTir?

(A) &iflod gmisy (B) allagib &lyGevomerdeasiy

(C) ailGeuirs Capgmul (D) weuesr BCwineigsm

Where is the headquarters of International Air Transport
Association (IATA)?
[A] Germany [B] Switzerland  [C] Canada [D] France

International Air Transport Association (IATA) @ar gemwenoull b 61g?
(A) Qegitioe] (B) sail_agievrig  (C) sam (D) Ugneie

The dance festival “Brahan Natyanjali” has started in which state?
[A] Kerala [B] Karnataka [C] Tamil Nadu  [D] Andhra Pradesh

“Brahan Natyanjali” esg wiplovgdled gbLiléasii L g?
(A)Gsgorr  (B) sipmar b (C) sfpsr® (D) oypdniyGasid

Divide Rs. 680 among A, B, C that A gest 3 times more to B and B
gets 4 times to C

(B)Rs. 160, Rs. 40, Rs. 480 (B) Rs. 480, Rs. 40, Rs. 40

(C)Rs. 480, Rs. 40, Rs. 160 (D) Rs. 160, Rs. 480, Rs. 40

Ass B gt Gured 3 wLmargw, B-&@& C-gu Gumed 4  wLEEGW
FleoLs@bLg ap. 680- Lssmed Seurser Qupid Ogrens peavpBuw

(A) Rs. 160, Rs. 40, Rs. 480 (B) Rs. 480, Rs. 40, Rs. 40

(C)Rs. 480, Rs. 40, Rs. 160 (D) Rs. 160, Rs. 480, Rs. 40

The length, breadth and height of a room are respectively 12
metres, 9 metres and 6 metres. How many cubic boxes are needed
to fill the room if the side of each box is 1.5 metres?

(A) 1072 (B) 648 (C) 324 (D) 192

@@ Sewpwiler BHemd, Ssevd wHMLd 2 wigd peopCuwr 12 L, 9 BLLT

wopd 6 L. 1.5 1bLLr Gemd Osreawi. assmer sarsEgyll G igsenTed
b3 SOOI (LPILHEDLOWITS BIFLILICOTLD

(A) 1072 (B) 648 (C) 624 (D) 192



28.

29.

30.

31.

32.

A, B, C start at the same time in the same direction to run around
a rectangular garden. A completes a round in 252 seconds, B in
308 seconds and C in 198 seconds starting at the same point. After
what time will they meet again at the starting point?

(B) 20 miniutes 18 seconds (B) 40 minutes 20 second

(C) 46 minutes 12 seconds (D) 30 minutes

®Cr BLsdled susdl @Oy Flamsulled A, B, C arailcuiager QFeleus LyBISTm6UF
any @Odlemerr. @m @wom &HHl euy A 252 alpmgsesd, B 308
aflBTIqs @mpLb, C 198 ailpmgsend a@sss Osmardlamernr. gLy GCarmdlu
U@, 903 gusst yerelluledy Qg apeumd assmen allpmqseEnds@l LinG
FhSlILmisEen?

(A) 20 Bl 18 eilpmgsen (B) 40 plflLib 20 aflpmigseir

(C) 46 plflLid 12 aflpmqasar (D) 30 pholmiser

Find the greatest number which will divide 2112 and 2792 leaving
the remainder 4 in each case.
(A) 63 (B) 64 (C) 68 (D) 78

fgj UG, erewiemmed, 2112 wHmid 2792 i@y clawIGMeT uGEGW Curg
5 4 L d@?
(A) 63 (B) 64 (C) 68 (D) 78

A sum was put at simple interest at a certain rate for 2 years. Had
it been put at 3% higher rate, it would have fetched Rs. 300 more.
Find the sum.

(A) Rs. 5,000 (B) Rs. 4,000 (C) Rs. 10,000 (D) Rs. 1, 000

@@ OsTeswurarig 2 y@iBsEnsE Sl alldlssdle CalssiBEng.
905 Ozrens 3 gFzalgld IyFswrs saf el aigssle Callssi’Lmed .
300 oFlswns eullq el @ 6loefled (‘?&Lﬂéaﬂu@m BTens  6T6iTen?

(A) 5. 5,000 (B) ¢p. 4,000 (C) ¢m. 10,000 (D) em. 1,000

A and B can do a piece of work in 10 days; B and C in 15 days; C
and A in 18 days. In how many days can B alond do it?
(A) 30 days (B) 20 days (C) 12 days (D) 18 days

A wpmib B e Geaumevenws 10 pmsefland B wpmidb C 985 Gouenevenws 15
prisaflgud, C womd A 908z Geaumevenws 18 prisaflgid QLT eeiled,
Sl yeiGeumevenit eraieueney B sefled pQLiLITiT?

(A) 30 Bl seir (B) 20 mriser (C) 12 prLser (D) 18 mriseir

In a certain code, LABOUR is written as KBAPTS. How is CANDID
written in that code?
(A) DBOEJE (B) BBMCHC (C) DZOCJC (D) BBMEHE

LABOUR aaip KBAPTS eaurisengenw een Gpluiliged epdlammsd CANDID
D QUTTSMmSmW eleleurml GO Iqed eT(IpSeVTLD
(A) DBOEJE (B) BBMCHC (C) DZOCJC (D) BBMEHE



33.

34.

35.

36.

37.

38.

If the radius of a circle is increased by 25% then its area in
increased by

(A) 50% (B) 25% (C) 56.25% (D) 46.25%

R eULLSSlGT b 25 ssaisd dsflésuuLmed Uiy PleflEE@n
FSIFLD

(A) 50% (B) 25% (C) 56.25% (D) 46.25%

If A’s height is 25% less than that of B, then hopw much percent is
B’s height more than that of A?
(A) 50% (B) 45% (C)22 1/3 days (D) 33 1/3 days

A-dler 2 wywrers B-wlar 2 wysdled 25 gaisn @Gopeuns 2 eiengl. eeled |
A-der 2 wigp B-uiler 2 wiggdled ereleueney Fsais FlEwTs 2 6eng)?
(A) 50% (B) 45% (C) 22 1/3 days (D) 33 1/3 days

Rs. 800 amounts of Rs. 920 in 3 years at simple interest. If the
interest rate is increased by 3% it would amount to
(A) Rs. 1,092 (B) Rs-992 (C) Rs. 1,882 (D) Rs. 1, 182

@h. 800 Qyaigl sallally eisssled 3 %axﬁ@asaﬂei) . 920 &gl B
ally aigb 3 Fsaisb Flsfsastiu@n Curgs 9085 SFarars 3 g aiBsaleD

QG GiFTens.

(A) . 1,002 (B) a5. 992 (C) tm. 1,882 (D) 5. 1, 182
The Dravidan Hostel for Non-Brahmin Students was run by

(A) Pitty Thiyagaraya Chetty (B) Dr. Ambedkar

(C) Dr. Natesa Mudaliar (D) Dr. T. M. Nair

Ulgmoemit  Siebevrseursensastas “Syrailear all®” eow BLSSweur wimir?

(A) Ulg Slwrsgrur Olaq (B) LmsLir. ouwlugasmir
(C)msLi. BOL&E wpgedlwmi (D) LA&LIT. 1q.61D. BIWIT

The First President of the Madras Mahajana Sabha was

(A) Vengaiah Naidu (B) G. T. Naidu

(C) Ramaswamy Naidu (D) P. Rengaiah Naidu
Olgaitener waTger FaLwlar (pSe FanevauiT

(A) Geumienawim BIu® (B) &lg. Brwy®

(C) gmogmsl Bruy® (D) 4. @ymenswr pruy®
Salt Satyagraha March in Tamilnadu took place towards

(A) Trichy - Nagapattinam (B) Trichy — Vedaranyam
(C) Trichy — Adhiram Pattinam (D) Trichy - Velankanni

siflpasdled 2 1 FsFlwndlys pev_Lwennd Gprédl OGFam @b
(A) lip&d]l — BraLuliged (B) glm&dl — Gougmyevwiwid
(C) glmédl — auglymbd L iqewnd (D) glm&dl — Gouenmmissevren]



39.

40.

41.

42,

43.

44,

45.

The nitrogenous base, which is not found in DNA
(A) Adenine (B) Cytosine (C) Uracil (D) Guanine

DNA afléd srewiutg enplgmger Guerd
(A) Siqemerer (B) awaGLmengen (C) wgrdled (D) @eurementesr

The antibodies produced during Type 1 hypersensitivity is
(A) IgA (B) IgD (C) IgE (D) IgM

auma 1 geaeurenoullar QUTpg 2 (HaUTSSLILGLD D@BTIGLITIQEET
(A) IgA (B) IgD (C) IgE (D) IgM

Who is rightly called as “Father of Local Self Government” in
Modern India?
(A) Lord Mayo (B) Lord Rippon (C) Lord Lytton (D) Lord Curzon

poier  @pgwrellar  “evgv  sw gl Allar  FHms” gy &fwrs
DInPSSLILIBLI6UT wimiT?
(A) CuoCuumiilyy (B) Mlcnaasr LSy (C) e gy (D) sigar Uy

Who among the following has been regarded as an eminent Indian
Painter?

(A) Ravi Varma (B) Pandit Vishnu Narayana
(C) Prabha Atrey (D) Shanta Rao

Speupeumer wir s Apbs B eailwir gyeuri?

(A) gail euirom (B) wemngl. ellagem) [bmyTemiuwie
(C) Ulyur oy, Gy (D) gmpsm el

Indira Gandhi Matriva Sahyog Yojana is for

(A) Pregnant women (B) Women entrepreneurs
(C) Education for women (D) Employment for women

@idlyn srpdl wrgfler FsanCGuirs L Bersepssts
(A) smroypp Oluewisend @ (B) Quemr OamifledpanerCourha @
(C) Cuewiser sevails@ (D) Quemigar GouemeveuruiLiLé@

The Life Expectancy of India during the 2011 census was

(A) 69.89 years (B) 67.50 years (C) 66.45 years (D) 65.60 years
2011 oy e waser Ogrens sansGs@uller ug @bSuraiar syrafl
SHUIL ST SILIL| BT

(A) 69.89 oy avIHS6T (B) 67.50 yewi(paseir

(C) 66.45 SyaviBaer (D) 65.60 SyaBiBS6T

The golden quadrilateral project connects which of the following
cities through highway?

(A) Delhi — Mumbai — Kolkata — Chennai

(B) Mumbai — Pune — Kolkata — Chennai

(C) Delhi — Chandigarh — Jaipur — Mumbai

(D) Kanupur — Patna — Kolkata - Guwahati



46.

47.

48.

Qidunalled smis BrHEy FTenew S L SPESTEDILD 6hF BHEIHISMETEUIGDEITLD
OBPEhaTemvsarTed Blameavddns?

(A) Glevel] — poews — Garelsrssr — GlFarene

(B) wpwoews — Bt — Gasreblargsr — Oearener

(C) Gledell — gFeawngaim - Oguiiyi - pbenLs

(D) sraiyir - urieam — Oasrebargst — Osamsrsd

Consider the following statement:

Assertion (A): Tilak started the Home Rule Movement at Poona
in April 1916, and Anni Besant founded it in
Madras in the following September

Reason (R) : Both the leaders worked in cooperation with
each other and made a great contribution in the !
political awakening of India.

A) Both (A) and (R) are true but (R) is not the correct explanation of (A)

B) Both (A) and (R) are true and (R) is the correct explanation of (A)

C) (A) is true but (R) is false

D) (4A) is false but (R) is true

— — — —

SlpsEeiL aursELEIEMmen Seuefl:
anpm (A) : glovair - 1916 gLgedled sarnld] LBuessang L amalle
mblilssnir. ealtuga. o8s eni® Garibuifled
Farenaruiled orLilgSm.
smyewnd (R) - Byen® smevaliEenh  epnEWCLTR BDoHs BbIw
Sflwed afliflijemitayds@ UBISTHORITTSET.

(A) (A) wpmd (R) Byemiew &fl - opemed (R) eaiug (A) alh@ gfluwmer
TS HLOGOG

(B) (A) wpmip (R) @gei@d &l Cuweyb (R) aaiig (A) ailp@ gflwrear allendasid

(C) (A) o gpesd (R) . soumy

(D) (A) soupi-@hamred (R) o

Who among the following was not an extremist leader?

(A) Bala Gangadar Tilak (B) Lala Lajapat Rai

(C) Bipin Chandra Pal (D) Gopal Krishna Gokhale
SpeupLeumer wirt Sallyours Fameveuir jedev?

(A) utew smEIBTST FlevaiT (B) ewmevr evggLidlymu

(C) UlSlewr apdly Limed (D) Gasmumev dlpagem CamaGev
Which work of Rabindranath Tagore is a collection of short poems?
(A) Chitra (B) Chitrangada

(C) Gitanjali (D) The King of the Dark Chamber

Slpeupd ST Hredseied e1g FAm uT edseflar OFTE@GLUILITELD.
(A) Sigm (B) flggmisgr
(C) a1 ehaa] (D) & dlmi oyt gl Lmirg Gabui



49.

50.

51.

52.

53.

The Indian Constitution’s method of amendment has been
incorporated in Article

(A) 365 (B) 366 (C) 367 (D) 368

gL Fmssw, B Swdlued grgar FLLGFled aps alduilar Sp OCaremwi®
eugLiLI_ (herengy)?

(A) 365 (B) 366 (C) 367 (D) 368

The idea of fundamental duties is derived from which of the

following?

(A) American Constitution (B) British Constitution

(C) Constitution of USSR (D) Japan Constitution

SgritemL sLawser aan Cumsemen dpaaiieupmled erdledmbg QupllL g?
(A) @©Qwflss osluieventoliyy (B) @midlevnha Sdluieventolis

(C) USSR @ypdlusevemioriy (D) sgiiumest @yydluieventoliny

What is the name of the Commission, which was appointed to
inquire into the 1975 Proclamation of Emergency?

(A) Sarkaria Commssion (B) Shah Commission

(C)Jain Commission (D) Vohra Commission

19750 e Obmésqg Bloow ey Gsriiurar  aflEmgenantanw
CupGameier SewasLiLLL Smeanuddler Gwir ereren?

(A) grgasmilur gy emenuiLb (B) agr gy ememrnuitd

(C) Glggullesr oy emeworiiLd (D) Gourgm oy emevoruwid

Which one of the following does not under Concurrent List of the

Constitution of India?

(A) Preventive detention for reasons connected with the security of a
state

(B) Marriage and Divorce

(C) Batting and Gambling

(D) Bankruptcy and insolvency

Uereumeuareupmier o685 gaim Bidw sgdueveoilar GQurgniu quiedar &ip

cugailevened?

(A) @  wrplevgdlear uTgBTICUTH  COSTLTL6TOT  STTEIBIGEHESTE  SHLILS
BHT6UGD

(B) Slgprocmid wpmid afleursgs s

(C) upswidb wHMID GSTLLLD

(D) Glpmgs g iGumeteur wmmib Sleureomeseuir

Who said that, “The office of the Comptroler and Auditor General
of India shall be the most important under the Constitution of
India”?

(A) Dr. B.R. Ambedkar (B) Jawaharlal Nehru

(C) Vallabhai Patel (D) Dr. Rajendra Prasad



54.

55.

56.

57.

58.

“@idu  ewfwevemwiitlar  &p Bidurallar  smevmw sausE  LWHMID
sasma Flamil seeuevad Ws psdluorearg” oy Faplueuir wimir?

(A) Lrseir Syt oubCugamir (B) meuamirevmed Gm(m

(C) ausdevnimus LGLed (D) LrgLir. @yrlxpdly Ulyens

Which part of the Indian Constitution deals about Administrative
Tribunals?
(A) Part XI-A (B) Part XIV-A  (C) Part XVI-A (D) Part XVII-A

Qidlu  owflwewewiillar  abs  uGd  Blteurs  Srumwumisemen  umbP]
anmifleTms?
(A) uggl XI-A (B) ugdl XIV-A  (C) uggdl XVI-A (D) ugdl XVII-A

When did India adopt the International Covenant on Civil and
Political Rights 1966?
(A) 1950 (B) 1966 (C) 1979 (D) 1969

gew wpmd sgfwed o fenwser Oariiurar #Taulss o L angsms 1966-gg
%‘_ﬁ,ﬂmn 6% QUMD gomis- Osmeig?
(A) 1950 (B) 1966 (C) 1979 (D) 1969

Which Indian-origin British professor has been honoured with the
Queen Elizabeth II Knighthood?
[A] Nandini Koel [B] Kamaldeep Begol

[C] Shankar Balasubramanian [D} Mandeep Singh Bhui

“Queen Elizabeth - II' Kinghthood” aamnm wulL$ms eabgs Dibslw
eubgmeuefl UIfilgas Cuprflflwmses eouyprd COsemyaildsig?

(A) pidleil Camuied (B) swevdit LSICsmed

(C) emisit LmevaLiIlyLocmfluieor (D) wemidLs Smi L

Who is the newly elected Chief Justice of Pakistan?
[A] Nasir-ul-Mulk [B] Mian Saqib Nisar
[C] Jawwad S. Khawaja [D] Anwar Zaheer Jamali

undlevgreflar Lyl seeeno Baluglurs wrr Csik0\s®sés UL Herermir?
(A) pdiT-2_60-(pedas (B) ewweir grdls plami
(C) meurs a1ad.  Heveumggm (D) @awraur gndlit ggmiosd]

The Bargarh Dhanua Jatra festival has started in which state?
[A] Odisha [B] Kerala [C] Assam [D] Manipur

Bargarh Dhauna Jatra eemm gmallipr ebg wrplovsdled Osmmasii Bereng?
(A) @uqar (B) Gagemr (C) @gmbd (D) wewfliy i



59.

60.

61.

62.

The first-ever United Nations Oceans Conference has started in
which country?
[A] France  [B] United States [C] Germany [D] United Kingdom

wpsa1  pgedled “United National Oceans Conference” eapg Brliged
BenL GLpm gi?
(A) dgresred  (B) @Goflgasm (C) Oegiroefl (D) @8l Br@®ser

Who has been appointed as the new Director General (DG) of
National Water Development (NWDA)?
[A] Sharad Jain [B] S. Masood Husain

[C] Usha Gupta [D] Kirti Kumar

Csdw it  waCaipy — gwmamwsler |yl  Bue@mbyres  wimir
wiblg s Ui Rerremmir?

(A) g75 Gleggenr (B) etar. 10@& 2 ewae

(C) 2_agr @LIsT (D) &lyd) @romi

In India, the soil type which ranks second in terms of its surface
area is
(A) Alluvial Soil (B) Black Soil (C) Red Seil (D) Laterite Soil

@iglwmailed ugLinenalled e mbd @LID euSlEGD T UM
(A) auemi_ed 1owT (B) &flged wevwr (C) Qaibwewsr (D) gumESH6d Lo6HT

Match the following

a. Antony Van Leeuwenhoek 1. TMV

b. Waksman 2. Rabies

c. Louis Pasteur 3. Streptomycin

d. Iwanowski 4. Simple Microscope
a b c d

(A) 2 3 4 1

(B) 4 3 2 1

(C) 4 3 1 2

(D) 3 4 2 1

Oumr g gis

a. gauiLefl eurar eluyGleuaianms 1. 1qérbal

b. eursGler 2. Gyuiled

c. aumufled LmedL T 3. adL QyLiBLmemiodlesr

d. meGameid] 4. aroflw miamCeannréd)
a b c d

(A) 2 3 4 1

(B) 4 3 2 1

(C) 4 3 1 2

(D) 3 4 2 1



63.

64.

65.

66.

Match the following

a. Phanerogams 1. Algae
b. Vascula Cryptogams 2. Liverworts
c. Non Vascular Cryptogams 3. Conifers
d. Amphibians among plants 4. Ferns
a b c d
(A) 3 4 1 2
(B) 3 4 2 1
(C) 4 2 1 3
(D) 4 3 1 2
Qurp s gis
a. GemGrrGsibsair 1. urdlsaer
b. eurav@eonit &G TGsibasei 2. &leurr.”.QeurirHasar
c. aumav@eort omm SMCLTCsibser 3. Garefl. .Lirser
d. sreugmisailed B\meurpailser 4. Quyenilser
a b c d
(A) 3 4 1 2
(B) 3 4 2 1
(@) 4 2 1 3
(D) 4 3 1 2
Which one of the following lacks nucleus?
(A) Ooctye (B) Spermatozoa
(C) Red Blood Cell (D) White blood cell
Uleraupeuareupmieor eidled 2 L& STevLiL(Beugledane
(A) SrewrLibd (B) allbgi
(A) Brss FouliLgmIse e (D) 8555 Gleuatenar jgmid e

Who was the English general who defeated Count-de-Lally in the
Battle of Wandiwash in 1760?

(A) General Haris (B) General Hamilton

(C) General Sir. Eyre-Coote (D) General Forde

sajaii -q-eoredlenws 176060 BeoLOupw euamniqeurad Curirsmsdled CsrhEnss
9 EECow uenL Femud) wimir?

(A) serug)l ammiflerd (B) seaugl ammibledr e

(C) semud] &ir. ouuiragnl (D) gamugl ..Cumi’

Who profounded Wardha Scheme of Education?
(A) Mahatma Gandhi (B) Jawaharlal Nehru
(C) Dr. Radha Krishnan (D) Hartog

aurirsr seall (peperw OCasTewi(h) eubFeur wiri?
(C) warswor smphd (B) gmeuamireored Gm(m
(C)LmsLi. @yrsm Slmagemie (D) amnirré



67. Which of the following is a correctly matched pair?

68.

69.

70.

(A) Dwarkanath Tagore -
(B) William Adams -
(C)A.M. Bose -
(D) Sinsir Kumar Ghose -

Spseavi_eupmiein 618 Fflwmen Bencvor?
(A) sluTTEHBTS STENT

(B) aflebedluid L tberd

(C) g.enb. Gumerd

(D) AT ot Carasg

Consider the following statement:
The Indian soldiers felt that using a new

Assertion (A):

Landholder’s Society
India League

British India Society
Indian Society

Blov o L emwwimeniaser GFrenalig
Bndur 656

U ges @ngur Ogrensiiq
Biduer GFrensig

cartridges was an attempt to force thme to
become Christians.

Reason (R)

A new type of cartridges were greased with the

fat of a cow or a pig.

C) (A) is true but (R) is false
D) (4A) is false but (R) is true

— — — —

SipsaeauiL aursEmIEmen deoueal:

anpml (A)

A) Both (A) and (R) are true but (R) is not the correct explanation of (A)
B) Both (A) and (R) are true and (R) is the correct explanation of (A)

Bpdw Curieiyiser yFlw CsmiLmaeu

2 LUCwrsLILBSSInG SEISM6N SLLTUIDTS

dfledgleuiTEenias OIHNICUSDSTES 6Ter
yslw GCariLrésefled us evovg vamluilar Csmepliy

&(HBleriT.

(R) aaiug (A) ailbhe@ afluwmrer

amyewid (R)
SLAIILIL Q5SS
(A) (A) wpmprd (R) Byewipn &fl  gyemmed
6115 S LDEV6V

(B) (A). opmd (R) @i &l Cuwepip (R) araig (A) aflp@ gflwmer allendasid

(©)(4) & spamed (R) soumy
(D) (A) gouny syonmab (R) o

Which Pact recognized a separate electorate for Muslims?

(A) Poona Pact
(C) Punjab Pact

(B) Gandhi-Irwin-Pact
(D) Lucknow Pact

abS LGS (pevedbsenssrar Fafls0sTgdlamwu mEsllss5?

(A) o @rissd
(C) uehamt eLILIBSLD

Match the following

a. Dandi March

b. 2nd Round Table Conference
c. Non-cooperation resolution
d. Quit India Resolution

(B) ampgl@irailer eLiLbsLD
(D) ewsCerm gLILIBSLD

1. Calcutta Seassion of 1922
2. Bombay Meeting

3. Sabarmathi Ashram

4. Sole representative



71.

72.

73.

74.

a b c d

(A) 3 4 1 2

(B) 4 3 1 2

(C) 2 1 4 3

(D) 3 2 1 4

Qumrp s gis

a. saug Wrsdleny 1. 192210 Y61 HO&HSST LOTHT(H

b. 2ib eu'r Cwewgy wrpT@® 2. wbumul ormI®H

C. PESHE@PUITEOLD SHTLOTEILD 3. suinng] gy dlywib

d. QeusitemenwiGenr GeuellCuipy Smorend 4. @Crlwmm Uyl
a b c d

(A) 3 4 1 2

(B) 4 3 1 2

(C) 2 1 4 3

(D) 3 2 1 4

Which city to host the 105th Indian Science Congress (ISC)-2018?
[A] Hyderabad [B] New Delhi [C] Chennai [D] Bhubaneswar

2018 - 1056ug @pglw SPleflwed wrBET® abs HaISIled BMLOLD BMHmsSng!.
(A) manayTLTS (B) yay @eve] (C) O=erament (D) yeuGasrerveuiy

Who has become the first woman field officer in the Border
Security Force (BSF)?
[A] Anjali Gupta [B] Tanushree Pareek

[C] Priya Jeyakumar [D] Sandhya Chauhan

Border Security Force (BSF) & @ged Ouewr a@er dlerflurs wmi
OurmiGupmyerenmit?

(A) SighFadl GLIST (B) sy unfé

(C) diflwr  Glggui@Lomit (D) gpdlwr Gsemame

Who has won the 2017 Formula 1 Rolex Australian Grand Prix?
[A] Valtteri Bottas [B] Lewis Hamilton

[C] Sebastian Vettel [D] Nico Rosberg

2017- Formula 1 Rolex Australian Grand Prix eraip ulLgeng wimir Geueimg?
(A) euedr Lmfl Gummerd (B) ellaflerd amibledLmeot

(C) Qeumadiquicr Gt Lmed (D) pléCGasr CrrardGluird

Who will be the new Defence Secretary of India?
[A] LC Goyal [B] Sanjay Mitra
[C] G Mohan Kumar [D] Anant Kumar Singh

urgismiy gepuller yslw Gswevreryra Blundlssi Reremeui wimir?
(A) ar60. & Gamuied (B) #@haws llgym
(C) &3l Gwrsar @Lomit (D) @yeihs @Lomi Smi



75.

76.

77.

78.

79.

80.

The Mudumalai National Park is located in which state?
[A] Kerala [B] Tamil Nadu  [C] Andhra Pradesh [D] Karnataka

“apgioenev Csfwliymisn” 6bgs MFlvsSled SieniomngileTeng)?
(A) Cayemm (B) slpBr® (C) p3lrilyCaeib (D) simrLsm

A table lis sold for Rs. 414 at a profit of 15%. How much did it
cost?
(A) Rs. 400 (B) Rs. 314 (C) Rs. 326 (D) Rs. 360

@h. 414-@ alpsiu®w e OCwmsullar Qeomub 15 ssalsw eaalld G
ourmidlw aflewed ereeom?
(A) Rs. 400 (B) Rs. 314 (C) Rs. 326 (D) Rs. 360

In a mixture of 28 litres, the ratio of milk and water is 5:2. If 2
litres of water is added to the mixture, find the ratio of milk and
water in the new mixture

(A)2:1 (B c)2:3 (L T3

28 o semauiled wTed, Bmw 5 : 2 @ ASlssSled 2 éeng).
SbsvmanyLar 2 o bir Carggmed Lmed wHmud Bilar LSl mﬁgj ETh)
(A)2: 1 (B) 1:2 (©)2:3 D) 1:3

A, B and C together can finish a piece of work in 4 days. A alone
can do in 12 days and B alone in 18 days. How many days will be
taken by C to do it alone?

(A) 10 days (B) 12 days (C) 9 days (D) 18 days

A, B, C wpaumid Cxmhgl @ Ceuencvenws 4 mprisefled @pquriir, A safiCuw 12
pr sefled - B safl6w 18 mmseafleud, deuGaumevaw pssredd C saflBuw
y6iBaimevenil eTeieuere) B sefled ApQLILITT?

(A) 10 mrser (B) 12 prisaer (C) 9 Brissen (D) 18 mrisen

One litre of water is added to 5 litres of a 20% solution of alcohol
in water. The strength of alcohol in the new solution is
(A) 16 2/3 % (B) 15% (C) 20% (D) 16%

SevsanTed 20 5615 2 6ten 5 AL Flyou sewaeuBGuir® 1 & LT Sewieniit
CorsaliL@dng. LI Svemauiled) S saDTed dssmar FFaigh 2 ereng)?
(A) 16 2/3 % (B) 15% (C) 20% (D) 16%

If the cost of 12 Articles is equal to the selling price of 10 Articles,
the profit percent in the transaction is
(A) 18% (B) 16 2/3% (C) 20% (D) 16%

12 Qumrmersefler eurmidl eflmevdE 10 Gurmerseafled aflby allmevd@ &b
aafled @Bs alwmurgsgled dlenLd@n GeorLid FSaisLb?
(A) 18% (B) 16 2/3% (C) 20% (D) 16%



81.

82.

83.

84.

85.

The difference between the present ages of P and Q is 8 yrs and the
ratio of their present ages is 2:3 respectively. What is P’s present
age?

(A) 16 yrs (B) 24 yrs (C) 12 yrs (D) 30 yrs

P wppgd Q-ar shlurensw euwgiseflar alldlgw 2 : 3. Guenbd Seuirser
awgsaiar allsFured 8 yeamiBser eafled P-ai  spluramswu  auws)
............... 9}, 651(H&61T.

(A) 16 yrs (B) 24 yrs (C) 12 yrs (D) 30 yrs

Five articles A, B, C, D and E are priced differently and the value of
C is Rs. 100. If “ A is cheaper than C but costlier that B and “E is
costlier than C bt cheaper than D” then which of the article is the
costliest?

(A)B (B) C (C) D (D) E

panEtaraiy  Fwdeoor  allglurgorer  aflmesmer  CaTaRi | MbEI
Gummeirser A, B, C, D wpmib E @6 C-ar ailamev ¢p. 100 @b, A-ai aflamey
Cg ol @opey Yyamed B-gg ol ysdhb. E-ai aflmew Cg ol dlsbd
gamed D-gg ol @Gowe eafley Qeupmenr Wsapd bls  aflae 2 airer
Glummeir e1?

(A)B (B) C (C) D (D) E

Ans: C

The radius of sphere B is one fourth of radius of sphere A. Then the
ratio of volume between A and B is
(A)1:16 ) 96 9N (C)1:64 (D)64:1

B aap Gsrngdlear eyybd A-ullar usdled YV umig eefled, A-ullar ser
Sjeneys@ B-uller @ar genes@n 2 6iten afldlsLb.
(A) 1216 (B) 16 : 1 (C)1: 64 (D) 64 : 1

If the volume of and surface area of a sphere are numerically the
same, then its radius is
(A) 3 units (B) 2 units (C) 1 units (D) 4 units

@@ Carensdlar euenerLLILD FaTSemad FOWb eafled iFar TLb?
(A) 3 & H6T (B) 2 wev@sar (C) 1 sv@ser (D) 4 Sev@sar

A man ca do a piece of work in 5 days, but with his son he can do
it in 3 days. In what time can the son do it alone?
(A) 6 2 days (B) 7 days (C) 7 2 days (D) 8 days

@ weflsar @ Camoew saflCw 5 prisalgud wasarear Csibgs HCs
gsusmvsmm 3 priseflnd psdlorir eafled, we@r WLEW  eCeuansvanu
TSSMET BILS6NM6D (LpIQLILITIT?

(A) 6 2 BT sar (B) 7 priser (C) 7 2 BrLsser (D) 8 mrisar



86.

87.

88.

Which of the following Lok Sabha term was extended beyond the
normal period of five years as land down in the Constitution?
(A) IV (B) V (C) VI (D) VII

aSSmanUTeug wisamaauwilear ugaldasTen rfwed emwliled) FnpLiL Berer
WHG MBS ST (BSOS BHLIgSSLILIL L G)?

(A) IV (B) V (C) VI (D) VII
Match List I with List II and select the correct answer
List I List II
a. Declaration on the Right to Development 1. 1992
b. Delcaration on Environment and Development 2.1965
c. International Convention on the Elimination of
All forms of Racial Discrimination 3. 1986
d. Convention of the elimination of All forms of
Discrimination against women 4. 1979
a b c d
(A) 3 2 1 4
(B) 2 1 3 4
(C) 3 1 2 4
(D) 3 4 1 ”;
oufleng I-Lar euflong 1I gt Gurpsd) aflwurer alloraws CsimbGs®
ouflens 1 auflans 11
a. Guwur’igné@iflu o flew bgmer LlgsL emnb 1. 1992
b. #pmiF@wed womb Guoburli® barer LlysL b 2. 1965
C. QMGG eUmBWTeT Qer LMGUTL oL @AILILIGHESTeT
grouBsa LMBT®H 3. 1986
d. waailTéE adlpmear J@ass ames LTGUTL QNS
@ILIGHSTe OTBTE 4. 1979
a b c d
(A) 3 2 1 4
(B) 2 1 3 4
(©) 3 1 2 4
(D) 3 4 1 2

The Vice=President of India who assumes the office of the

President in case of vacancy, holds the same

(A) until a new President is elected

(B) until a new President in elected and assumes office

(C) a maximum periof of one year

(D)the remaining tenure

GuwrsEs sSmeoar udle ardwmg Gurg, SLUFailew ghEGL FGleent

GUWIE Seevell SiLgaiuiled B mLiLg

(A) ydlu Grwrs smevar CaipbOsRSSLILIGL Uy

B)ydw @uurs s Csibls®esiul®, Seeusd CuTmLiy gnh@L
QUM

(C) Siglsurad @ymeingp@

(D) bspeiten smevd (Lp(LpeuGiD



89.

90.

91.

92.

93.

94.

Which of the following is correct according to the preamble of the
Indian Constitution as on 26t January 1950?

(A) A Sovereign, Secular, Republic

(B) A Sovereign, Socialist, Secular

(C) A Sovereign, Socialist, Secular, Democratic, Republic

(D) A Sovereign, Democratic, Republic

Ulereumeuareupmien 61g 26 gareufl 1950 Seimy ug Bpgu  Syfluievenoliy
wpseayemyuiled Fflwimerg?

(A) @empeno, FwFTTLGIMmET, (HQUITH

(B) @empento, Fiosiod, FowigmirLileento

(C) @emmento, FwwFmileienty, FWSTIOW, WEHHETLS], GQUITs

(D) @empenio, wésemtldl, @Quigs

The ‘Southern Oscillation” is observed between the oceans of

(A) Indian and Pacific (B) Atlantic and Pacific

(C) Indian and Atlantic (D) Artic and Atlantic

‘Gaar gmeey eaaLg @UGumEsLsEps@ Do Cuw parrCunElang.
(A) @bl wpmid LAlle (B) @ievrenigs ommid LS
(C) @pdlus wpmid I eoTaIgs (D) <yngé LoMmILD S OTERTIGE

The average of a boy’s marks in 7 subjets is 75. His average in 6
subjects other than science is 72. How many marks did he get in
Science?

(A) 72 (B) 93 (C) 90 (D) 94

@@ wreneuafler 7 umeE@eflar Fymef wHiGueas 75 gPlailwed urLb saily 6
ur_misefler syrafl wSiGues 72 aafled Seuar SyPlalwed um gdled CLbp
oL 1 Gl 1691 - 6T6dTENT?

(A) 72 (B) 93 (C) 90 (D) 94

Convert decimal 44 to binary
(A) 101100 (B) 011001 (C) 001 (D) 100011

S&Ib 44 Byl enLwins orHml
(A) 101100 (B) 011001 (C) 001 (D) 100011

For non-overlapping classess 0-19, 20-39, 40-59 the class mark of
the class 0-19 is
(A)O (B) 19 (C) 9.5 (D) None

0-19, 2039, 40-59 eamw CuoopLgseny aEGLlled, Gl 019 -1 Gl
&DILIGILI6wT
(A) 0 (B) 19 (C) 9.5 (D) ety Sedemev

Area of a rectangle one of whose sides in 6 m and diagonal 10 m is
(A) 60 (B) 48 (C) 30 (D) 68



95.

96.

97.

98.

99,

@@ Oeaussdlar @i ussD 65 wWHYLD ST apmeoeulLd 105 aafled Syger
ugLiLieney?
(A) 60 (B) 48 (C) 30 (D) 68

A sum Rs. 800 amoung to Rs. 915.92 in two years. Then the
compound interest rate is
(A) 6% (B) 4% (C) 7% (D) 8%

@h. 800 ety g Quewimeni(h) pgalled . 91592 Hdpg aafldd el
ALy FS5AIGL SHTERIS.

(A) 6% (B) 4% (C) 7% (D) 8%

The flood forecasting centre for river Subarnarekha is locaed at
(A) Gandhi-Sagar (B) Guwahati

(C) Bhubaneshwar (D) Jalpaiguri

auiteanQrar pdluller Ceveiren eréafldama enwwib ewbgierer B b

(A) srhgl grasit (B) Osaranrsg)

(C) yeuBamrerveuir (D) gevumui@il

The least populous union territory of India as per 2011 census is
(A) Lakshadweep (B) Andaman and Nicobar Islands

(C) Daman and Diu (D) Dadra and Nagar Haveli

2011 sensCas@Ullear Lg - Gonbs wssLGgTensamw Csrai. @b w)efluie
UlyCsaib

(A) B #5560 (B) @ibsworar wpmid BléCamunt Seyser
(C) Lmwesr wmmib oLy, (D) srgyr whmb praT anGeue

In which of the following places in India evergreen forest is not
found?

(A) Andaman Islands (B) Assam

(A) Western slopes of Western Ghats (D) Deccan Plateau

&@yp Car@ssiuLereor @il uGSlseErer usmw wIPT STES6 Bedeovrs
uGS!

(A) @iBsTOTET S6yd a6 (B) @evevmd

(C) G OarLigd] wamevsailar Cuom@s gfley (D) séamen Ly

Match List I with List II and select the correct answer

List I List II
a. Calcutta Congress (1928) 1. Resolutio on Fundamental
Rights and Economic
Policy
b. Lahore Congress (1929) 2. Two Nation Theory
Karachi Congress (1931) 3. Dominion status

20

Ramgarh Congress (1940) 4. Complete Independence



a b c d
a 2 3 4 1
B 4 3 2 1
@© 3 4 1 2
m 1 3 4 2
aflomg I-Lar euflens II gt Qummsd) sflwurar aflmmws Csibos®
aufleng 1 aufleng 11
a. BOBSST HTEIBITeD (1928) 1. @uquiuemL o flenwseir wmHmLd
Ourmerrary Qsmeitens Wamer Siworead
b. eran sTmIElFed (1929) 2. @mpr® Oararems
c. &yr&dl smmidlyed (1931) 3. QLmbleflwer Sbsads
d. gmbsrir srmilyed (1940) 4. prp FSHBSID

a b c d
(A) 2 3 4 1
(B) 4 3 2 1
(C) 3 4 1 2
(D) 1 3 4 2

100. Which is wrongly matched?

101.

102.

103.

1. The Santhal’s Rebellion, 1855

2. Moplah Rebellion, 1921

3. Vellore Mutiny, 1806

4. Barrackpore Sepoys Mutiny, 1804

(A) 1 only (B) 2 only (C) 3 only (D) 4 only

saprs COUThsssmas saBLIGEEa LD

1. SFTRISTEONTHAT HeV&LD, 1855

2. wmiBer sevatb, 1921

3. GCeougrit. ev&Ld, 1806

4. ursLT FLUTWISeT Hevsb, 1804

(A) 1 ol (b (B) 2 @B (C) 3 L@ (D) 4 ol (b

“uemigmifleno aretLg pemi et Cumri Lflousaim
ST uUMPHG Sjeientl eueniLiLg Ouevienilar 2 flevwdsLer Beng wmi
Fnplig?

(A) @p. eugsyTEe (B) glmp.all.scowmem gbgyemit
(C) @ymwaimisLs Lletemer (D) Guflwimir

aggrailear sailms Freser Jorsmss CsibosB?

(A) giwppad (B) Caaroamip

(C) gou@pd FevtemimiL (D) 8ps8sar eV

“someoLl  Ulmabg — sefluré@n  Oepsliiflar  CQemdme  wellwirss
Oar®ssuaib BsTCmm” eiand STeomL (B LmQuIeT wmir?

(A) sebwimessr &b TeuITT (B) @ymosdmiserit

(C) Cadlwaipruigserit (D) ungdlsmae



104.

105.

106.

107.

108.

efG’gp gyu@u uatuppia e sflLbpane?
@ailwuiF %’ HETED 2 6 glng)aﬂl_asemas spmisgimn  Cursl  Gurpllamg
LOL (beDSUITS @@g,g,aﬂm 61601 @ng,@g,rremas BEAEINES)
qu,T) @6\)589u.l§§761) (PSS GIBUSMHE @ailwiLb GI@TLI@LHT@GTI B)(mHSmeIL
L;g) e LOHDILD Ogrevamiilun OGguiuyer suqser @g;mﬂmu@g, &1
3. BT IGe) @allumiseman (psedled asm@ﬁmgpg,gu aTeTCm  eupEIlujeiTerTeDTiT.
4. mﬁﬂ 6160016o01 5155 61Tl GoT a@&eﬂmu_lu e  cueiewiBisailen  glewewt Olamemi(h
m@@@mrrgrrg,aﬂm SavigmiaT allenar@hT et L&pGLIHDIT.
(A) 2, 4 sflwphpeney (B) 1, 2 sflwpmene
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